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Mathematics-1

Pre-number Concepts

let's Revise
Write 'B' for big and 'S' for small Write 'H' for heavy and 'L' for light
one. one.
Ans. Ans.
“o-o s
B S I H
Tick (v') the taller one. Cross (X) the shorter one.
Ans. Ans.
r% ,7‘: -
X
Who is near the bus? Tick (V) it. Who is on the top? Tick (V) it.
Ans. ﬁ""_" Ans.
/ Biugen g v
=k e ki
R :.L,,.._
it bl o
_J}I.\.
BEFORE AND AFTER
Put a () on who is before the girl.
Put a (X) on who is after the girl.
Ans.
@’ X 2
|
Boy Girl Old Woman
ON AND UNDER
Put a (V') on the items those are under. Put a (X) on the items that are on.
Ans. Ans.
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"'9b Numbers 1-10

GOUNTING OBJIECTS

Now, colour the pictures and fill in the correct numbers :

Ans

NUMBERS AND THEIR NAMES

Draw strings from the Kkites to the right numbers :

]

Circle the word which rhymes with each number name :
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Count and tick (v') the correct numeral :

.....................................

_____________________________________

&
&
&
&
&
&
*_

e S S DB D

MORE-LESS-SAME
Tick (v') the group which has more :  Tick (v') the group which has less :

Ans. E i Ans.
v
BEFORE, AFTER AND BETWEEN
Fill in the blanks by writing the numeral that comes :
Ans. before between after

EEE R KR
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EENNEE 3 EB K2 o | [0
AN KA KB 2 o2 ]
GOMPARISON OF NUMBERS
Count and write the number of objects and put the sign >, < or=:
Ans. N
cess L8 | GO® G
7 > 3 6 > 5
& NG
e . e N
g @@savw Lt e
., (2N
2 > 5 4 = 4
S 2N
MENTAY MATHS
Write the missing letters to get the number names.
Ans. 1. ONE 2. TWO 3. THREE 4. FOUR
5. NINE 6. SIX 7. SEVEN 8. EIGHT
9. NINE 10. TEN

th Ordinal Numbers

Now answer the following questions :

Ans.

Tom is standing at first position.

Teena is standing at Eight position.
Nine position is for Vimal.
Heena is at Five position and Soni is at Second position.

mf;b Addition up to 10

Write the sum :

Ans. "
e it
ool
e

3+ 1

AUDITION

HR%
L L

i
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7+0=7

ok ek &L

ae. ;. %9
< <k

5+4=9

Write the addition sentence and find the sum :

Ans.

°%¢ 9
$e¢ 8¢
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ADDITION IN TWO DIFFERENT WAYS

Add across or horizontally : Add down or vertically ;
Ans. - Ans.
3 -+ 5 = 8 [T 1) 6 oeeeee
- 1-1- -1 + 5 oeeoo + 4 eoeeo
Fae i 10
6 + 4 = 10
Ll ]
Lol L o
7 4 2 = 9 7 eeeeece G eeecee
(1L ¥ £ 2 ee + 2 ee
Y & 0 o
6 + 2 = 8
5 + 5 = 10 5 00000 3 000
_,\:l-:i,_ _,‘_?-_,_‘,_-:r-_,_“_ﬁ::_;_ + 5 eoeoeoo + ] |eceeeee
3+ 7 = 10 10 10
ORDER IN ADDITION
Think before you write :
Ans. s 4 2 =2+ 5 1+7=17+1 3+2=2+3
6 +1=1+6 2 +4 =4+ 2 5+ 0=0+15
6 +3 =3+6 4 +5 =5+ 4 9+1=1+9

Fill in the blanks :

Ans. 1 + 6

Il
=)
+
—
o)}
4
[S)

Il
&}
+
o)}
(S}
4
N

Il
~
4
[S)

4+ 6)=6+4 2+3=3+2 | 3+4=4+3

2 +8=8+2 5+5=5+5 6 +2=2+6
STORY PROBLEMS

Read a count and add :

Ans. 2 frogs are in the pond. 2 There are 2 yellow ducks. 2
3 frogs are outside the pond. T3 4 ducks are white. ik
There are 5 frogs in all. S Thereare 6 ducks in all. 6
3 trees near the pond. 3 3 fish are in the water. 3
4 trees far away from the pond. + 4 3 more fish join them. + 3
There are 7 trees in all. 7 | There are 6 fish in all. 6
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Multiple Choice Questions :
Tick (v') the correct choice :
Ans. 1. a.

2. c.

3. b

“ b Subtraction up to 10

Count and write in the boxes :

A B O OO OW®

&

&

Lo oak

Take away and write the answer :

Ans.

= S
1&\%%\%&,\ -

3 cats

e .

6 balloons

L -
%'?j‘ =

1 goes away

e -

K

3 float away

Lk

There were 6 apples

4 apples were eaten.

So, there are 2 apples left.

BAGKWARD GOUNTING FOR SUBTRACT10N

Use the number line to subject and write the numbers in the boxes :

Ans. )

5

6

7

8

Subtract :

Ans. |

6
Subtract :
Ans. 9

7

1

0

2

a|=

-~ ] L)

g|a

=]l

4 - 3
9 — 8
9 - 0
10 — 4
9 = 7
2 - 0
&8 - 0
3 -1
6 — 1

Mathematics-1
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Use the number line to subtract and write the numbers in the boxes :
Ans.

I = 1= o] NSNS () 5 5 -
2 2 = 0| 7 -7 = 0| 6 — 6 =
4 — 4 =]o0| 8-8= 0/ 9 -9 =
Subtract across or horizontally : Subtract down or vertically :
Ans. 4 — 1 = 3 Ans. 4 5
5 - 3 = 2 — | —
3 2
8 — 2 =6
4 - 0 = 4 8 4
-2 -0
7 - 5 = 2 4
9 — 5 = 4 7
_5 _
2
STORY PROBLEMS
Solve the following story sums :
Ans. 4 monkeys were swinging on a tree. 4
2 fell down. How many are left on the tree? = — 2
2 monkeys are on the tree now. 2

7 bananas were in a bunch.
Monkey plucked 1 banana. How many are left in the bunch? | =
6 bananas are in the bunch now.

8 mangoes were on a tree.
3 fell down. How many are left on the tree? = —
5 mangoes are on the tree now.

There were 5 birds on the tree.
2 birds flew away. How many are left?
3 birds are left. 3
Multiple Choice Questions :
Tick (V') the correct choice :
Ans. 1. b. 2. b. 3. c

W\ W o
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%

mE‘E Numbers up to 20

MAKING TEN
Find out how many TENS and ONES are there :

Ans. = = = = = e~ e~
{/;{/;{/#fflflf Tens Ones

1] 4

PPPPPPY | g

POPPPOOP® | . ..
POPPPOP® .

238550,

2 alt alL alt sl alt als alt alL
LA T o T AR T AT LA T T 14 Tens Ones
X oY a¥T BT ANY BT LNT BT oNY BT o 1 | 9
w-F wFf =F =Ff =2Ff =aFf =wFf =wF aFf ar 19

i T s e e Tens Ones
N S S I
e - e s T T 11

- - - - = L - - - -

-\..... -\..... ;...'.- -\..... :..... -\.... -\..... ;...'.. -\..... :..... Tens Ones
e e ey e e 2] 0
} ; :- } a- } ; :- } a- 20

BEFORE, AFTER AND BETWEEN

Try filling in the missing numbers :

10 11 12 14 15 16

4 5 6 15 16 17
12 13 14 12 13 14
10 11 12 13 14 15
7 8 9 5 6 7
18 19 20 17 18 19
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GOMPARING NUMBERS

Put a circle around the smallest number :

Ans. W53 1120 9 12 3 5 10 6 /16 18 11

Put a circle around the greatest number :
Ans: 95 19007 f170015 6 18 14 19 138 i

Put >, < or = signs in the boxes :

Ans: Ti0 > 4 M u - o Mo
13 > 12 17 > 18 9 > 15 20 > 18
SMALLEST TO BIGGEST
Write the given numbers in increasing order : / 8
14
Ans. 18 10 14 w12 \
15 17 12 11 n 2
/'\8 19
13 16 18 19 no e
T
10 9 16 20 9o 10
BI1GGEST TO SMALLEST
Write the given numbers in decreasing order :
AMS. 4y 15 12 13 515 3
14 12 19 17 1917 14 2z )
e
19 12 16 18 19 18 16 12
e -
9 11 18 17 18 17 T
Mental Maths
Think and write the missing number :
Ans.
0 1 2 3 14 15 16 17
7 8 9 10 11 12 13 14
6 7 8 9 10 11 12 13
4 5 6 7 17 18 19 20
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ﬂf’h Addition and Subtraction up to 20

MAKING 10 TO ADD
Make 10 and add. . . .

R TTTILL el
‘ ‘ ‘ ‘ ‘ ‘ -f;:’j -*.-‘}fﬁ -*.-‘}fj -f;:’j -f;fﬁ -*.-‘}fj -f;:‘:j
6+ 6 =12 4 +7 =1
ADDITION BY GOUNTING FORWARD

Start from 9 and count forward.

Ans. qq‘q‘ q
RER GG 9 10 11 12 13 14
aa® @@ ° v
BB B
SE&ed - &g 10 1112 13 14 15
C 11 1] @& w0+ s =15
GEELEE &6
E&EEE + &E& 1 13 14 15 16 17 18
EEEE E& 1+ ¢ = 13
YOOw @
POO® - ow O 13 14 15
OO 2 + 3 =15
+ f:f'fjf 15 16 17 18 19 20
ko ko ko R 15 + 5 = 20
Make your drawings.
Ans. T O
B 8 X 2x X 2x 1% XX 5% XX
srasn L P
1 2
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T O
1 2 AT T A
12 + 5 = 17 + 5 e
1 7
T O
1 s R RN R R S KX KR R KX X X
15 + 4 =19 + 4 e
1 9
T O
12 R R I KX R KX R A KRR X
ERei=sY e | ook
1 8
T O
13 R R T N R KX R A KR X KX B
13 + 4 =17 + 4 ek
1 7
ADDING THREE NUMBERS
Add across. Add down.
Ans. 7 + 8 + 5 = 20 Ans. 6 5 4 3
+ 7 6 + 7 4
- + 5 7 + 3 7
6 +4 + 7 =17 13 |4
9 +2+ 5 =16 - .
+ 5 3 + 4 7
+ 1 5 + 8 8
4 + 3 + 8 = 15 9 19
4 3 5 5
2 + 7 + 5 =14 + 3 4 47 7
+ 9 9 + 8 8
4 + 1 + 6 =11 16 20
SUBTRACTION
How many numbers? Cross and find out.
IS 57 M7 M A A Y
AT AT AT AT 15 - 4= 11 v oA
A AT AT A A 11
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A e r.o
e e Bt A
B T 0 6
T O
kbbb hi L
gea2297 0 7
o T O
Yoy o3
YeVSSeY L
1 0
SUBTRAGTI0N BY GOUNTING BAGKWARDS
Use the number strip to subtract the following :
Ans. T O T O T O T O T O
1 7 1 6 1 9 1 8 1 2
- 7 - 5 - 9 - 3 - 2
1 0 1 1 1 0 1 5 1 0
T O T O T O T O T O
1 8 1 1 1 2 17 2 0
- 17 - 1 - 8 - 4 -1 0
1 1 1 0 0o 4 1 3 1 0
T O T O T O T O T O
1 9 1 5 1 1 1 4 1 7
-1 2 - 5 -1 0 - 3 -1 1
0o 7 1 0 0 1 1 1 0 6
ADD OR SUBTRAGT T O
Ans. They saw 8 parakeets and 6 emus. How many birds did they 8
see? + 6
They saw 14 birds in all. 1 4
T
1 5 There are 15 monkeys and 8 deer. How many more monkeys than
_ 3 deer?
7 7 monkeys more than deer.
T O
Peter had 18 bananas. 12 bananas were eaten by them. How 18
many are left? -1 2
6 bananas are left. 0 6

Mathematics-1 14



there?
There are 18 water animals.

—_—_ o -

(0)
6 There are 6 crocodiles and 12 ducks. How many water animals are
2
8

Multiple Choice Questions :
Tick (v) the correct choice :
Ans. 1. b. 2. a. 3. b

"“;b Numbers up to 100

Draw a line to match the number with the number names :

Ans.
Forty-f
29 \ - i
Twenty-nine
Forty-nine
39 50
\ Thirty-nine
/ Thirty-three
33 Fifty 44
How many? Count and write :
T O
Ans. 2 packets of ten crayons 2 0 2%
each and 6 loose ones. + 6
<FsfFsfF s T O
4 collections of ten leaves <= <= <> <I= 4 | 0
each and 1 loose one. S S . = 41
T O
3 baskets of ten mangoes 3 0o
each and 9 loose ones. + 9 39

Mathematics-1 15



Numbers 51 to 60 :
Ans.

O 00 N N AW N~

—_
(=]

is
is
is
is
is
is
is
is
is

is

NUMBERS 51T0 100

fifty-one
fifty-two
fifty-three
fifty-four
fifty-five
fifty-six
fifty-seven
fifty-eight
fifty-nine
sixty

Numbers 61 to 70 :
Ans.

O 00 N N L AW~

—
S

is
is
is
is
is
is
is
is
is
is

Sixty-one

SiXty-two

sixty-three

sixty-four

sixty-five

SIXty-SiX

sixty-seven

sixty-eight

sixty-nine

seventy

Numbers 71 to 80 :
Ans.

O 00 N N AW~

—
(==}

is
is
is
is
is
is
is
is
is
is

seventy-one

seventy-two

seventy-three
__ seventy-four

seventy-five

seventy-nine
eighty

Mathematics-1 -




Numbers 81 to 90 :

Ans.

80 + 1 is eighty-one

80 * 2 is eighty-two

80 * 3 is eighty-three
80 + 4 s eighty-four
80 + 5 s eighty-five

80 + 6 s eighty-six

80 + 7 s eighty-seven
80 + 8 s eighty-eight
80 *+ 9 s eighty-nine
80 * 10 is ninety

Numbers 91 to 100 :

Ans.

90 + 1 is ninety-one
90 + 2 s ninety-two
90 + 3 s ninety-three
90 + 4 is ninety-four
90 + 5 s ninety-five
90 + 6 s ninety-six
90 + 7 is ninety-seven
90 +* 8 s ninety-eight
90 + 9 s ninety-nine
90 +* 10 s hundred
HUNDRED NUMBER GHART

Complete the hundred number chart :

Ans. [0 2030451678 910
111211314 15|16 17 1819 20
2112212312425/ 26 27 28 29|30
31|32/33/34|35 36/ 37 383940
4114243144 45|46 47 48 49|50
51521535455 5657 58|59 60
61|62 63 64|65 66 67 68| 69|70
7172173174175 76|77 78| 79| 80
81|82 83|84 85|86 87 88| 89 90
91192193 /94|95/96 97 98 99 100

Tens Ones
8 1
8 2
8 3
8 4
8 5
8 6
8 7
8 8
8 9
9 0

Tens Ones
9 1
9 2
9 3
9 4
9 5
9 6
9 7
9 8
9 9
10 0

Mathematics-1 17




Expand tens and ones :

Write the number :

Ans. 27 — 2 tensand 7 ones ADS- 3 tensand 9 ones = 39
39 = 3 tensand 9 ones 6 tensand 2 ones = 62
71 = 7 tensand 1 ones 8 tensand 9 ones = 89
85 = 8 tensand 5 ones 7 tensand 8 ones = 78

What comes in between?

Ans. 18 17 40
70 7 a2 17
94 14 62
77 45 91

What comes before and after :

Ans. 29| 66 | 18]
91| 193 36 [37] 45
12 91| 62
79 45 ] 20 |

Colour the flower which has smallest Colour the balloon which has

number : largest number :

" l@. .Wp e L7 . 66 ) 44/
OGO OO i < =
o0 oo o -
ot dseb  dasp 46 18 14
02O OG0 oY . ¥ A

o) &) o)
c@o c@. &Q’. 93 .90 . 83 :
OO0 OO Ogd ¥ _; Y
o0 oo 099
SOOI s e o
Q.A Q.O Q.O l,/ 2 i
o w
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PLAGE VALUES

Write the correct number below the abacus.
Ans.

Write the numeral :
Ans.

Draw the beads for these :
Ans.

30 6 36

Multiple Choice Questions :
Tick (V') the correct choice :
Ans. 1. c. 2. b. 3. a

Mathematics-1 -



fw#b Addition and Subtraction up to 100

Solve the following questions : T O
Ans. 1. There are 7 brinjal plants. Gardner plants 5 more. How 7
many are there in all? + 5
T O 1 2
b9 2. There are 19 tomato plants. Zara has watered 8. How many are
=8 left?
I 1
ADDITION
Add the following.
Ans. T O T O T O T O T O
2 3 4 1 5 6 3 3 9 2
+ 4 + 3 + 1 + 4 + 5
2 7 4 4 5 7 3 7 9 7
T O T O T O T O T O
8 2 6 7 1 3 7 2 5 1
+ 4 + 2 + 5 + 7 + 6
8 6 6 9 1 8 7 9 5 7
T O T O T O T O T O
4 4 6 1 5 2 1 2 6 4
+ 5 + 5 + 3 + 7 + 5
4 9 6 6 5 5 1 9 6 9
IN THE SGHO0L
Read and solve the addition problems : T O
Ans. There are 16 girls and 23 boys in the class IA. How many 1 6
children are there altogether? +T9 3
16 + 23 = 39 children 3 9
T O
1 5 Geeta has 15 pencils and her brother has 14. What is the total
+ 1 4 number of pencils?
5 o 15+14=29 pencils T O
. . 2 0
On a particular day, 20 boys and 15 girls are present. How L1 s
many children are present?
20 + 15 = 35 children 305
T O Ruhi got 42 marks in English and 36 marks in Mathematics. How
4 2 many marks did she get in both subjects?
+3 6 42+36=78 marks
7 8
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Qo vnwn
= — n
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w2

4

w2

[

<

2

<

=

2

)

an)

= oz

v

2 2

i} I
13-}

£ <

® [

5 &T

<= rnD

S5 2

o " =

<+ 5 ©

£l

<= <

()

L5 5

Shs

0= O

T o

=~

- S~

o Z 1

8 3o

o= <

2o

o +

h..m.l.

H < en

Subtract the following :

Ans.

O =

= o0

Q wn

= o

Q wn

= N

o~

= o

QO o

= O

Subtract the following :

Ans.

QO =

~ o0

o <

= <

(@)=

= o

Qo <

= o

o <

= <

(@i

= <

o~

=
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IN THE PARK AGAIN

Read and solve :

Ans.

Ram had 27 marbles. He lost 10 marbles. How many marbles
are left with him? T O
27 —10 =17 marbles 4 6
Out of 46 boys in the park, 22 are playing
football. How many are not playing football?

46 — 22 = 24 boys

There are 38 trees. Out of these 17 are Ashoka trees. How
many are not Ashoka trees? T O
38 — 17 =21 trees

6 6
A balloon seller had 66 balloons. He sold 35 _ 3 5
balloons. How many are left? 3
66 — 35 = 31 balloons

In the park, there are 56 children. If there are 10 girls, then

=2 2
2 4

find the number of boys.
56 — 10 = 46 boys
REGROUPING TENS AS ONES
Colour the answer clouds as per the code given.
Ans. 5 tens 17 ones 6 tens 14 ones 6 tens
= 6 tens 7 ones = 7 tens 4 ones = 7 tens
= 67 ones = 74 ones = 79 ones
2 tens 14 ones 8 tens 16 ones 2 tens
= 3 tens 4 ones = 9 tens 6  ones = 3 | tens
= 34 ones = 06 ones = 134 ones
Let us go faster!
Ans. 5 tens 16 ones 4 tens 14 ones 7 tens
= 66 ones = 54 ones = 85 ones
8 tens 17 ones 3 tens 16 ones 6 tens
= 97 ones = 46  ones = 78  ones
2 tens 12 ones 8 tens 11 ones 5 tens
= 32 ones = 9] ones = 65 ones

ADDITION WI1TH REGROUPING

Add the short way :

Ans.

T O T O T O T O T O T O T
1 1 1 1 1 1 1
4 6 & 5 39 29 39 36 5
+48 + 6 +58 +35 +55 +59 +2
9 4 91 917 6 4 9 4 95 8

Mathematics-1 22

o O

— = N
<o 20

N = L -
— 3 o0 O

5= 0 -
e =N-e)

19 ones
ones

14 ones
ones

15 ones

18 ones

15 ones

-n

+
0 B~ W

avoa 0o



T O T O T O T O T O
1 1 1 1 1
38 58 53 1 4 2 7
+1 4 +2 7 +2 9 +5 9 +2 8
52 8 5 8 2 73 55
Subtract by regrouping
Ans. 1 o T O T O T O T
3 15 2 15 3 17 3 14 7
A5 35 4 7 A 4 L
+2 8 + 8 + 9 +2 8 +4
17 2 7 38 16 3
T O T O T O T
7 12 5 14 3 11 6
£ 2 £ 4 4 1 a
+4 9 +3 5 +2 3 +4
33 29 1 8 2
Multiple Choice Questions :
Tick (V') the correct choice :
Ans. 1. b. 2. c. 3. a
'y
@ ém Measurement

Tick (v') the one which contain more liquid :

Ans. %‘ g

v
Check and write the length/height of the following :

Ans. Your bed is
Height of the plant is
The blackboard in your classroom is
A wall of your classroom is
Your pencil is
Fill in the blanks with the correct answer :
Ans. Length of the marker pen is 8 erasers.

Length of the toothbrush is 6 erasers.
Length of the toy train is 11 erasers.

Mathematics-1 23
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WEIGHT

Tick (v') the heavier animal. Tick (V) the lighter fruit.
Ans. P Ans. el
BER Apen @
.n%:l-l}.i = a,;ﬁ; ‘ K \___:La-'gi
v v
Tick (V') the box for the heavier pan :
Ans. _.B i
) e

i P o &

Tick (v') the box for the lighter pan :

Ans. L[ - it -

Fill in the blanks :

Ans. The weight of the notebook is the same as the weight blocks.
The weight of the pencil box is the same as weight of the blocks.
So, the notebook is heavier (heavier, lighter) than the pencil box.
The weight of the water bottle is the same as weight of blocks.
The weight of the tiffin box is the same as weight of the blocks.
So, the tiffin box is lighter (heavier, lighter) than the water bottle.

s :h Multiplication

Write the following as multiplication statements :

Ans. = - - e
et bad el et
&y 4 -, P - P -, P
- P i P i W
o4 (o o4 o4
X SR
2 ® 2 ® 2 * 2 4x2=8
3% 3 & 3 % 3 & 3 3x3=1S
@Ff Q‘%} Qﬁ@
4 + 4 + 4 e =12
E ® s ® s ® s R
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See the example and do the rest :

Ans. 6+6+6 = 3x6 = 18 7T7+7+7+7
8§+8+8+8 = 8x4 = 32
5+5+5+5+5 = 5x5 = 25
3+3+3+3+3+3 = 3x6 = 18
10+ 10+ 10+ 10 = 10x4 = 40
MULTIPLICATION TABLES
Table of 1
Count and build the table of 1 :
Ans. 7
Table of 2
Count and build the table of 2 :
Ans. &%
o
T % %
2B 2% 2T 22
2B 2% 2% &% &%
2B % 2% % 3% 3%
2B 3% 2% % 3% 3% %
2% 2% % &% % &% &% &%
2% &% % &% &% &% % &% &%
B % T % 8% % % &5 % %
Table of 3 and 4
Table of 3 Table of 4 Table of 5
Ans. | x 3 = 3 1 x4 = 4 1 x5=5
2 x 3 = 6 2 x 4 8 2 x5 =10
3 x3 =9 3 x4 =12 3 x5 =15
4 x 3 =12 4 x 4 =16 4 x 5 =20
5 x3 =15 5 x4 =120 5 x5 =25
6 x 3 =18 6 x 4 =24 6 x 5 = 30
7 x 3 =21 7 x 4 = 28 7 x5 =35
8§ x 3 =24 8§ x 4 =32 8§ x 5 = 40
9 x 3 =127 9 x 4 = 36 9 x 5 =45
10 x 3 = 30 10 x 4 = 40 10 x 5 = 50

Mathematics-1 25
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12
14
16
18
20

Table of 10

1
2
3
4
5
6
7
8
9

10

x 10
x 10
x 10
x 10
x 10
x 10
x 10
x 10
x 10

10
20
30
40
50
60
70
80
90
100



YVERTICAL MULTIPLICATION
Find the product of the following :

Ans.

4 8 6
X5 x5 x2 x
20 40 12 3

o) ...
“;h Division

TO TO TO TO TO T

=
=T NI

T T

-
oS o wo
-
[NV
=
N O

o
3
5
5

0 N VO
o v boO

— X
N X
~ X
w X
—_ X
w X

x
1

Make sets to divide the following things. Circle each set :

Ans.

Divide 9 oranges by

making sets of 3.

Divide 8 books by

making sets of 2.

Divide 15 pencils

by making sets of 3.

Divide 12 crayons

by making sets of 3.

Divide 20 flowers

by making sets of 4.

F-: "‘1__-3 F- 1""3 S 'i'l'l__-t F-: "‘1__-3
T = T T

Sl s S AT
s B o o T
i g R
we make setsor9+3= 3
5 K &
v ¥ K X
we make setsor8+~2= 4

we make setsor15+3= 5
§__‘-:-;;'.‘I i P 1;‘! it e
et It I R R P

we make setsor12+3= 4

RGN aaaae
MRAMAANAARRGR

we make setsor20+4= 5
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“E""b Money
ADDING WITH MONEY-SHOPPING

Look at the pictures and do shopping :

Ans. 1. TP 2. X _ P
10 00 10 00
+ 2 00 + 2 00
12 00 12 00
Let's DO

Look at the given example and write how much Ansh's father will have to
pay of they go on the following rides.

Ans. % T

P A 320 +3[15 =2 (35
T M 8 T B0 =<
T
-7 Time
Ravi is off to school. Number the pictures in order in which he gets ready.

Ans. [ =
e 6

\ J

N e \ s \

e N e

Fill in the blanks :
Ans.

Hour hand at 2; Hour hand at 4; Hour hand at 7,
minute hand at 12. minute hand at 12. minute hand at 12.
Itis 2 0’ clock. It is 4 0’ clock. Itis 7 o’ clock.

Write the time shown by the clocks :

It is 8 o’ clock. It is 11 o’ clock. It is 6 o’ clock.
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Draw the hour hand to show the time :

I wake up at
6 0’ clock in
the morning.

T have my

I_-!- i breakfast at
L;v; - 7 0’ clock.

I play in the park
at 5 o’ clock.

I study at
4 0’ clock in
the afternoon.

MENTAY MATHS
Ans. Guess and write the time.
One hour after 2 : 00 v
Two hours before 1 : 00
Between 11 : 00 and 1 : 00

GALENDAR

Fill in the blanks :

Ans. Monday is the first day of the week.
Thursday is the fourth day of the week.
Friday is the fifth day of the week.
Saturday is the sixth day of the week.
Tuesday is the second day of the week.
Wednesday is the third day of the week.
Sunday is the seventh day of the week.

Fill in the blanks :

Ans. February is the second month of the year.

May comes after April. July comes after July.
June is the sixth month of the year. ~ March comes before April.
August comes before September. October comes before November.
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November comes before December.
Which is the month now?
This is the month of January.
Multiple Choice Questions :
Tick (v) the correct choice :
Anms. 1. c. 2. b. 3. b

‘“;h Shapes and Patterns

Count and write ;

Ans. .Red AGreen |:| Blue \__/ Red . Orange @1 Pink

Match the different shapes :

Ans. Square w
Rectangle . - ..
==
Circle |
. =Fe
Triangle £
P §
Oval @I%

Multiple Choice Questions :
Tick (./ ) the correct choice :
Ans. 1. a. 2. c.

h Data Handling

Look at this picture and answer the following questions :
Ans. 1. Two 2. Four 3. Two 4. Three
How many are there in your classroom?

Colour one box for each one you find. Work in groups.

Ans. [T windows [I[ [T TTTTTT] @F aoos  [2LLLTTTTTT]
wodgt gans [S| L[ L[ [ ]| | vlackvoaras [2] [ | [ [ [ [ ][]
5 lights ‘4‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ Number Number Name
Answer the following questions : 2 Two
Ans. How many ﬂ 10 Ten
How many EE] ) Two
How many
A 5 Five
How many et
How many 4 Four
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LET'S GO

How many of each kind of fruits do you see?

Ans. - { Iy
Fruits g e

Number 7 6 2 5 4 5

Model Test Paper-1
A Tick (v') the longer object :

A;ls. R
/ T - . ;. % B L A
P ;,-g;ﬁ_. o e

4

B. Tick (V) the heavier object :
Ans. AT
4

g b@t v & i
I - A s

»

v

C.  Colour the third candle green, second blue, fourth red and first yellow.
Ans. g, cly el wly
et (R (R R
| | | |
I b I !

—_ L= L= L=

D. How long are these?

ADS. o a—E -
S
about 6 erasers
E.  Match the following :
Ans.
Zero
7 4
One
Seven
3 0
Four
Three

1 2
Two 4/

F. Fill in the boxes by writing the number that :

Ans. come before come in between come after

3 2 3 4 5 8 9
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Ans.

Ans.

Ans.

Ans.

MODEL TEST PAPER-11

Circle the biggest number and cross (X) out the smallest number :

% (8 53 (62 26 % @ 17 ¥

Complete the following :

I. 5+5+5+5 = 20 2. 9+9+9 = 27
Divide 16 apples by making sets of 4.

we make 4 sets or 16 +4 =4

Match the following :

2 tens 6 ones 89
Sixty—two 8
eighty—nine 26
40 +7 62
25-17 47

Werite the time :

Count the money and write in the box :

C e v B -k Bl 2B -Rs

Bl + Bl - R0 i e T - k60
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